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2w = 600,2L =48,
O | (10,8 8y | o,
Fde| =L xoz+ZL
10,8) Ox | 10,8 Oy | o

25, TWRG W EFO B B, B X IREE

X ~B(3,%) M P(X =2} = :

26, FEWBL N 2 R BE
e? (y+azy') +cos(2ly) » Qaxy +22y) =5,
X%IZ Ovy: 1’1—%/\?%' y/ =1,

X 0.3 = 1204 14.4 = 134. 4.

1

() x (1-2)7 = 0.09s.

5

B0, 1) W& TN y— 1=, 8l y =2+ 1.
ELAEABIE y REHE S BR Lo AR KRR

27,8/ F T = 1,0l = = %(ﬂ —1),dz = zde.
Fﬁ'ufe””l £z = Je’ o tdz
= te’—J-e’dt= te! —e +C

eV (W 22+1 -1 +C.

28.%4 f(a) = 2* — 2% (x>0, W f'(x) = 2°In2 — 2z, ] FULR AN EH B /B, AR 77 (2.

NHE () = 2510’2 — 2 > 2*1n*2 — 2 == 2(2In4 -

2*In2 —8 = 8(2In2 — 1> = 8(lnd — 1) >0,

lnd— 1> > 0, BT £/ () BB, & £/ () > f/4) =

BE () BT, (o > @,/ 25— 2 > f(4) =2 —4F =0,

R 2= > 2 (= > 4).
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